Sheetl

Read-

Output- Women Change End-
Student ID Compile | Print | Propose |answer men | partner |messaging| Efficiency | Report | Bonus

(10) (10) (20) (15) (20) -style (5) (+5) (20) (20) | Late Total
2000100007
2002103940
2003000075
2004103349
2007000010
2007102944
2008400006 5 8 20 15 20 5 5 -40 38
2008400036 10 10 20 15 20 5 10 90
2008400048
2008400120
2008400186 10 5 20 0 0 0 20 55
2009400054 10 10 20 15 20 5 10 90
2009400102
2009400189
2010400048
2010400072 10 10 20 15 20 5 5 20 105
2010400114 10 10 20 15 20 5 10 -20 70
2010400117
2010400153
2011400153
2011400177
2011400198 10 10 20 15 20 5 20 100
2011400219 0 0 5 0 0 0 5 10
2011400240 10 10 20 15 0 5 20 -20 60
2011400261 10 10 20 15 20 5 18 98
2011400264 0 8 20 15 0 0 20 63
2011400324
2011400342 5 10 20 15 20 5 20 95
2011400345 0 0 10 5 0 0 0 15
2011400351 10 10 20 15 20 5 5 20 105
2011400357 10 10 20 15 20 0 10 -20 65
2011400360 10 10 20 15 20 5 5 20 105
2011400378
2012400003
2012400021
2012400042
2012400060
2012400189 5 10 20 15 20 5 0 75
2012400240 10 10 20 15 20 0 5 80
2013400024 10 10 20 15 20 5 20 100
2013400096
2013400189 10 10 20 15 20 5 5 10 95
2014800042 10 10 20 15 20 5 5 20 105
2015400252
2015700165 0 5 0 0 0 0 0 5
2015700186 10 10 20 15 20 5 5 25 20 130
2015700189 10 10 20 15 20 0 20 95
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Sheetl

Report not complete, no print to file, wrong output

Algorithm is not explained

Report not complete

Report contains only the solution

report could be more detailed

Partially working

Loop In wrong place

Messaging is controlled by master, no direct messaging, report not complete

man_is_free

Report missing solution and algorithm, irrelevant sentences from an old report, messy code, insufficient comments

Report not complete

Messaging is controlled by master, no direct messaging
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